SPARTAN

MOWERS

A
[ERS PAG R

INSTRUCTIONS

For more instructions visit SpartanMowers.com or contact your local dealer.



[ERS PAC - HIT PARTS

s

Figure 1
From left to right: Suspension Elastomers - Soft Grip Knobs - Serrated Nuts - Suspension Bracket - Nuts & Bolts

H?j oJalt-00

ﬂ SPARTAN

PAGE 1 | Teks Pac Kit MOWERS



STEP 1

Raise the seat and remove the two seat elastomers that are located on the crossmember
by using a 5/32 or 4mm Allen T-handle and 7/16” wrench.

SIEP 2

Install the two rubber bumpers supplied in bolt kit by using the black Allen bolts and %" nuts
that were used to hold the seat elastomers on. (do not use the black washers)

ALITIONT (g

B, |

SIEP 3

Remove the two 3/8” bolts that are centered in the GT Trac plate by using two 9/16” wrenches.

ﬂ SPARTAN

MOWERS Teks Pac Kit

PAGE 2



SIEP &

Remove the 3/8" battery bracket nuts with a 9/16” socket.
The weight of the battery should hold the bolts in place.

SIEP 5

Install suspension bracket and route wiring as shown. Then install the 3/8” nuts back onto the battery bracket bolt
and tighten securely. (Letting the deck down will help with getting the bracket into place)

SIEP B

Install the original GT Trac bolts through the GT Trac bracket,
suspension bracket and tighten securely with original nuts.

ﬂ SPARTAN

MOWERS

PAGE 3 | Teks Pac Kit



SIEP T

Install the new suspension elastomers as shown. Install the two 5/16” serrated nuts inside the elastomers. Place
the soft grip knobs on the bottom of the suspension bracket and tighten the serrated nuts securely (a 2" socket
will help hold the serrated nuts). You may have to loosen nuts later to adjust elastomers depending on the

weight of the operator.

SIEP 8

Install the supplied “LB Scale” decal as shown on the left side of the suspension bracket.

MOWERS Teks Pac Kit | PAGE &

ﬂ SPARTAN



SPARTAN

MOWERS

A

1525 White Drive Batesville, AR SM020120



